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Answer the Questions from any one Option.

OPTION-A
( Plant Anatomy and Embryology)
Paper : BOT-HG-4016

OPTION-B

( Economic Botany and
Plant Biotechnology)

Paper : BOT-HG-4026
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Paper : BOT-RC-4016

Full Marks : 60
Time : Three hours

The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.
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OPTION-A
Paper : BOT-HG-4016
(Plant Anatomy and Embryology )

1. Answer very briefly : 1x7=7
S by Teq A

(a) What is megagametogenesis ?

Cfewe Fomw iFg [t &2

(b) Name the two main parts of a dicot
_embryo.

R-JAersidt g 75 U ST AW fora |

(c) What is permanent tissue ?

q T [Fe

(d) Name the most common type of ovule
in angiosperms.
AooolT Bfen ABIRSLF AR eigq ﬁmsa
I ol

(e) Write the name of tissue that helps
hydrophytes to remain floating.

Tt fGTT (PIIRY FT SRR g siidhe
efe ATF?
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(/’  What do you mean by bisporic embryo
sac?

B-E9T o91T TelaT e [e
(9) What is Chalaza in an ovule ?
s U3 v & =2

2. Write briefly : 2x4=8

o P -

(a) Double fertilisation
fa-fcEw

(b) Tunica-Corpus Theory
Pll-30llR oW

(c) Casparian Strip
cuefRaE 8t

(d) Differences between self-pollination and
cross-pollination

-2 SF ToI- AT We© A
ALFRT
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3. Answer any three of the following :5x3=15 4. Answer any three of the following:
oS TTEL T RepIeAT AT TeT B 103230
What i woTe St 41 Rrpier fofAnrT e o
(@) at is apomixis? Discuss its .
advantages and disadvantages in Crop (a) Whe}t are vascular bundles ? Descrll?e
im their types and arrangements 1n
provement. . .
monocots and dicots with proper
SRS 52 *FY TRAeTe 2T SoliiRel e | diagram. 2+8=10
SRR T Seer 4 Heaen o 52 (el o Rl Sfere
(b) Describe the anatomy of dicot leaf with | 2R &P W Rpprg e <ot w1

a labelled diagram. (b) What is secondary growth in plants?

BAGAQ T Aaw SeTeT stSww Ry Explain with diagrams the stages of
Bz I 1 ' secondary growth occurs in
dicotyledonous roots. 2+8=10
(c) Write notes on heartwood and Sapwooq. | SR CﬁT‘fﬂfCﬁﬁs? W@W@W &t
AT S PRI o R forar |
- l . (et Y RifSn SR oo 39 w4
(d) What is polyembryony ? Explain ijtg () What i.s meristematic tissue ?. Describp
types and importance in plang the different types qf meristematic
reproduction. | tissues and their role in plant growth.
<entel o2 T oI 1 B ererere 248210
TS 2 qIF
&% T T A | ofe 3 52 e I SR eRpieTE oI
e o 2R okt 34t 34|
(e) Explallln the anatomical features of | (d) What is apical meristem ? Describe
xerophytes. various theories regarding structure,
e WW SIS R growth and development of root apex
I ) ! of flowering plants. 2+8=10
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(e)

ey lers 3w 2 AoooF Ofevs T
TS sloe, Ifa ST [ TS
SISRTBRT STeverEd 39 |

How are functional megaspore and
embryo sac are formed? Describe
various types of embryo sac
developments in angiosperms with neat
diagram. 2+8=10

IREFT FIY E TNT (TR A0 272
(ool B RS 2IRT @I sow eiferag
At oo 39t =4

What is endosperm ? Explain its types,
development and functions in seed
formation. 2+8=10

Tt e T g, e oie o some
2T I [ |
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OPTION-B
Paper : BOT-HG-4026

( Economic Botany and Plant Biotechnology)

1. Answer the following questions : 1x7=7
©o eTRd T ¢
(a) Who proposed the concept of centre of

origin ?

TSR TeoifS (FHI LIRAITH! ol AN (A
SiSRBIR R 2

(b) Write down the scientific name of bread
wheat (6n) ?
{23 I i e

(c) Name the alkaloid present in Tea?
BIZATS I3 GeRieTEn f[wg i forah|

(d) Which State of India produce highest
amount of spices ?
oiged TiRT e TeAmTRIRl JeTLRT AN
ferat|
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(e) What is the required amount of
pressure to sterilize the culture media

in Autoclave ?

o Eee 794 Mg Mo Rt [am
Bl TS ?

() What is the full form of PCR?
3t 15 =tig-3 syl <l fovaln|

(g9 Who coined the term bioinformatics ?

AT TBIG-AC (I &7 IRfez2
2. Answer the following questions briefly :
2x4=8
weTe Srae epPTRs 5 Tes fum

(a) Write the name of the four species of
cultivated cotton ?

RO TS BIRG! eeifS i forar

(bp) Write the scientific name of the
following and their part used as spice :

(C& (& RICRDES IS o BE e DAC ISR e R E
IRTS (TS PR W1 fora ¢
(i) Clove

R
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(iij Black pepper
Giee

(¢) What do you mean by cellular
totipotency ?

CPIRER oI ARG el WK [ &l ?

(d) Importance of molecular scissor in
Recombinant DNA technology.

R & 7 @ agfe wilke @6
ArareaTet e

3. Write short notes on any three of the

following : 5x3=15

oo Sfnfde R oAb Gt ot

(a) Centres of origin

A Teolfs (T

(b) Economic importance of soybean

TR Ao wsyg

(¢ Embryo culture
e
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4.

(d) Role of RFLP in DNA finger printing

fBana Rrstiv BfSes RFLPT Bt

(e) Proteomics and Genomics

ey oie fmfis

Answer any thiree of the following :

10x3=30

Oo ) TR ol 2hg Tex ofat ¢

(@)

(b)

Mention two principle fibre yielding
plants of India with their Latin Name ?
Assign them to their respective families
and indicate the plant parts from which
the products are obtained ?

2+2+3+3=10
SIS YRy A4 ity Teoimadil Sfevg ¢eio
I o1t | Piges ol Trae IR i Gl s
2191 ©ifz Sizg 11 =7 e 40|

What is the species that yield tea of
commerce ? Give an account of the
steps in tea processing. 2+8=10

BIgF FifferT TesAmemiier oo 2 piesie
AfEFIeeeT B (2B I 0|
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() What do you mean by tissue culture?

What are basic requirements of tissue
culture ? How does tissue culture help
in crop improvement and plant .
conservation ? 1+2+7=10

e T W e qEe e R A A
STAEITE [ Rt *TE SRS AIE
FRETNS T T (PO A I, o

(d) What is Recombinant DNA technology ?

Name any four enzymes involved in
Recombinant DNA technology ? Nan.1e
three different blotting techniques in
Recombinant DNA technology with their
application ? 2+2+6=10

RIS Romq ergfes e RIS o
et TS ibe HifeD BRbFT A Brad
11 RS g ergfere e @RI TR
et TR0 S <=t

(¢) Write an explanatory note on molecular
marker.

S o Raw ot <90
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(/ What do you mean by bioinformatics ?
What are the different branches of
bioinformatics ? -How does the

bioinformatics help in drugs discovery ?
2+2+6=10

Tor-oxy it e & 3@ oR-oy R
RSy *MrnE & & 834 TeRR (Fa©
o-o R @ {0 TRIT I
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